








Verilog ビット幅 基数 2進表現

1'b0 1 2進 0

4'b0100 4 2進 0100

4'd4 4 10進 0100

4'd7 4 10進 0111

8'hf0 8 16進 11110000

8‘b1000_1111 8 2進 10001111

1 32 10進 000...0001



Verilog ビット幅 基数 2進表現

1'b0 1 2進 0

4'b0100 4 2進 0100

4'd4 4 10進 0100

4'd7 4 10進 0111

8'hf0 8 16進 11110000

8‘b1000_1111 8 2進 10001111

1 32 10進 000...0001































un5_y

un8_y

y

yc

b

a









module example(input  a, b, c, output y);

wire ab, bb, cb, n1, n2, n3;

assign #1 {ab, bb, cb} = ~{a, b, c};

assign #2 n1 = ab & bb & cb;

assign #2 n2 = a & bb & cb;

assign #2 n3 = a & bb & c;

assign #4 y = n1 | n2 | n3;

endmodule



ブロッキング代入文 ノンブロッキング代入文

initial
begin

a = 3;
b = 5;

#10
a = b + 1;
b = a + 1;

end

initial
begin

a <= 3;
b <= 5;

#10
a <= b + 1;
b <= a + 1;

end


